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1 Introduction

This section is not for approval.

In order to make timely progress with towards completion of the AAS WI, it is necessary to reach an agreement on emissions scaling.
The approach of AAS-ETAC has been used up to now in order to find a means to link AAS requirements with non AAS requirements. AAS-ETAC is also likely to be used for some other requirements and potentially beam declaration.

During offline discussions, the following issues have arisen in respect of the approach:

· How to appropriately count the number of AAS-ETAC is not fully clear in the existing WF on AAS-ETAC
· A basestation will in fact support different TMs with different AAS-ETACs. Which AAS-ETACs are supported at any time will vary at multiple levels of timescale, including amongst others:
· Potentially from TTI to TTI dependent on scheduler decisions

· Dependent on configuration of UEs with MIMO settings by L3

· Dependent on what functionality is supported in the Baseband software build supplied with a hardware platform
· Although there is agreement that AAS emissions should not exceed those of non AAS, it is proving tricky to define what is meant with “non AAS”

· A non AAS supporting e.g. TM8 with 8 antenna ports could also from time to time support TM4 with 4 CRS ports, but the requirement would remain per radio and hence 8*37.104.

· Alternatively, a non AAS supporting 4 CRS ports could have just 4 radios

· For regulatory reasons in Japan, it is necessary that the emissions level with a reduced number of transmitters active in an AAS should not exceed the emissions with a reduced number of active transmitters in non AAS (i.e. the emissions should scale according to the amount of activated transceivers)
· It is highly undesirable to have to repeatedly test emissions for an AAS BS just because baseband software could operate different MIMO configurations
Taking into account these concerns, two options have been discussed for how to scale the UEM requirements:
1. Continue to try to work out how to enumerate AAS-ETACs in an unambiguous manner

· Advantages: Already suggested method, can be argued to link AAS with the number of transceivers in a non AAS BS

· Disadvantages: Despite several meetings of working on enumerating the number of AAS-ETACs, it is proving highly complex to do so. Probably the specification text for AAS-ETACs will be complex and difficult to interpret. How to deal with basestations that can operate different TMs with different numbers of AAS-ETAC not clear.
2. Set the scaling factor to be min(number of active (i.e. switched on) transceivers in the band, 8)

· Advantages: For less than or equal to 8 transceivers, this means of scaling the requirement gives exactly the same emissions requirement as currently in the non AAS specifications. For >8 transceivers, the emissions requirement is limited, unlike the current specifications. Specification can be written unambiguously. Direct link between the number of transceivers in an AAS BS and in a non AAS BS, with a limit.
· Disadvantages: Less strict than counting AAS-ETACs in the unusual situation of operating less AAS-ETACs than transceivers (although still just as strict as the current 36/37.104).
2 Agreement
This contents of this section are proposed for approval:

1. The scaling factor, [#scale] for emissions is set by either (i) enumerating the AAS-ETACs or (ii) min(# active transmitters, 8).
· As this is an urgent issue to decide in order to complete the AAS specifications in release 13, a decision on which option to use should be made as RAN4#76bis

· Companies should indicate in contributions for RAN4#76bis:

· That the option they favor is well defined and robust

· If they reject an option, specifically in detail why they object

2. Once [#scale] has been clarified, the emissions requirement for a band is stated as:
[#scale] * 36/37.104 requirement

This is on the basis that there is an allowance of one times the current requirement per [#scale], and the testable requirement is on the total emissions from all transceivers.

3. Combining of signals from two antenna connectors after the transceiver array boundary is not possible
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